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308 XtXIEHHSOIA 1,268,784 865,499 403,285
= 845,856
< 422,928
01 AXHHILEES 1,268,784 865,499 403,285
O3 M2t A2t A 1,268,784
= 845,856
< 422,928
R AolcHA 18,000 30,000 A 12,000
308 MtXIEHMSOIH 18,000 30,000 A 12,000
01 HXNHHBHELS 18,000 30,000 A 12,000
OHM163 =X Aol & 18,000
eAZ= 3l Mzl ¥ FIt 30,000 30,000 0
308 XX EHSOIA 30,000 0 30,000
10 B3I/ 2SOHHSB&ERAE A 30,000 0 30,000
OMMNal &5 e-2Z =M
=l 30,000
SHAACIAS HAaA 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
OHM163 S OH&rS T A2l 30,000
OtJIet Mot MAYE 23 85,200 85,200 0
308 XX EHSOIA 85,200 85,200 0
01 HIXNHHNBNEES 85,200 85,200 0
OO0kJlet EMdts BMALE 85,200




A= 2o Ms2E= PN 230l A
M 2oz 2L
Helr 23 odZet 2% E 2UH=E |4 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Eector g3t MEXA 128,000 128,000 0
307 gl2tol & 28,000 28,000 0
02 It M AHE L 28,000 28,000 0
ot g3t =& 'O’ 10,000
OZ & st 2 AH X 283l 18,000
308 XX EHH SOl A 100,000 100,000 0
01 X HHILEXS 100,000 100,000 0
OEectotd st MR 100,000
22 X 45,000 45,000 0
308 A EHHSOIA 45,000 45,000 0
01 HIXNHHNBMNELS 45,000 45,000 0
OX2EMZ THAFH 45,000
M2 &3 MlA XT& 17,860 20,890 A 3,030
= 17,860
308 XXM SOl A 17,860 20,890 A 3,030
= 17,860
01 IXNHHBNEES 17,860 20,890 A 3,030
OAM& G23tMHlA XI& 17,860
= 17,860
=5 2H=I2 20t 2I XA 1,300,000 1,300,000 0
= 1,000,000
< 300,000
308 XtXIEHH SOl A 1,300,000 1,300,000 0
= 1,000,000
< 300,000
01 AXHHILEES 1,300,000 1,300,000 0
Os=s 2H =320ty 29X 1,300,000
= 1,000,000
< 300,000
HEWs=ddy 28 X 1,000,000 450,000 550,000
s 1,000,000
403 Mt SHHSA=0l& 1,000,000 450,000 550,000
s 1,000,000
01 HXSHMA=E X 1,000,000 450,000 550,000
OM&EN=2 &85 AE K& 1,000,000
s 1,000,000
Z2xE2 A2dst2 A 325,000 600,000 A 275,000
ras 325,000
403 X SHHE =0l & 325,000 600,000 A 275,000
s 325,000
01 XM A=2EE 325,000 600,000 A 275,000




A= SRMF2E= A == [ ==R =
g 230l FE
Sl 235 olmg 1E W BHE 4 (B9 ®R)
F-RA-BH-SAEA) - HRAY - BAS of 4 o4 il HI RS2
OZxE2 H2dsta A8 325,000
= 325,000
SEDA2 28 X2 9,926,000 0 9,926,000
= 5,714,000
= 4,212,000
403 TtXI M SA=01H 9,926,000 0 9,926,000
= 5,714,000
< 4,212,000
01 HXSHH =L 9,926,000 0 9,926,000
OMESF AT A SS=AM2 HE 1,750,000
= 1,000,000
S 750,000
OFXNS M2 & 23tdy AE 3,500,000
[ 2,000,000
= 1,500,000
OZxE2 3= AM2 2dE 2,429,000
= 1,388,000
< 1,041,000
OSAZAl OlE0EA2 HE 1,050,000
= 600,000
= 450,000
OlUxzAM2 55 € cIZEE 1,099,000
= 628,000
< 471,000
OFFHA2EAM2 2|22 E 98,000
= 98,000
AAAMENE AAERSF 50,000 50,000
308 XXM SO0l ™ 50,000 50,000
10 SJ1 2 S00HetE & X 2 & AL I 50,000 50,000
OS2 0F AAALNE NSRS 50,000
X 2ZEHAMOIE 2=F 270,000 270,000
s 270,000
403 TtXI M S =01 A 270,000 270,000
= 270,000
01 TtXIEHH X2 2 & 270,000 270,000
OXX =ZLAMOIE 2= 270,000
= 270,000
ATRET], HASAL 2T () 150,000 150,000
= 150,000
308 XXM S0IH 150,000 150,000
= 150,000
01 HAHHZEES 150,000 150,000
OB=S2&1 ZSHMA (B4 150,000
= 150,000




A= 2o Ms2E= PN 230l A
M 2oz 2L
Sl 23 Qe UE U BHX FY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
HFES2E) 2 MMM (XHE2) 174,000 0 174,000
s 174,000
403 UHXSHHSA=0l& 174,000 0 174,000
s 174,000
01 X SHHMA=E L 174,000 0 174,000
OF==s=2&D I MYAS (IH2) 174,000
= 174,000
SEESHHOE) 2 200,000 0 200,000
207 O] 200,000 0 200,000
01 289 200,000 0 200,000
OS2 H(OIE) HE EBIgd 22389 200,000
SoHAY SEXH 1,505,000 65,000 1,440,000
s 900,000
< 605,000
S0ate 243t 105,000 65,000 40,000
307 glz2+ol & 105,000 65,000 40,000
05 RIZt2IE = 105,000 65,000 40,000
OZ03Z&Ual Nz 28,000
O30lel w=s ot3tdlol M4 10,000
Of=30& Hg XA 27,000
O30S 82 - HiHE 2S ALY 40,000
FFS0dege XA 1,400,000 0 1,400,000
s 900,000
= 500,000
308 XX EHSOIA 1,400,000 0 1,400,000
s 900,000
< 500,000
01 HIXNHHNBNEELS 1,400,000 0 1,400,000
OF=30dldee X 1,400,000
s 900,000
< 500,000
IR dSEBE 18,428,801 14,592,492 3,836,309
= 7,226,705
z 180,000
J| 1,521,577
= 9,500,519
FetRAe BEEW IIX = 18,428,801 14,592,492 3,836,309
= 7,226,705
s 180,000
J| 1,521,577
= 9,500,519
SNXNEEZSM 2+ FHl 5,308,128 3,115,580 2,192,548
= 4,345,047
< 963,081

[e)}
|




AZ: 2SR SN 2s0ENYD
N RN dsES
el 2ERM BED O S CERED
L=
2. 2A - ZY-S(SH) - APAY - BES 0f o il Hl D52
403 RXISH S X =0 & 5,308,128 3,115,580 2,192,548
2 4,345,047
S 963,081
01 HXSHH =R 5,308,128 3,115,580 2,192,548
O=7IXd 23N 243l 5,308,128
= 4,345,047
S 963,081
=JXE #AIIEE &8 E= 204,000 192,440 11,560
= 168,000
= 36,000
403 RHXI S A S X =0l & 204,000 192,440 11,560
= 168,000
= 36,000
01 HXSHH =L E 204,000 192,440 11,560
O=Jtd dgJlg=2 XNg2=s 204,000
= 168,000
[ 36,000
INHXNE 23 =001 0| 158,508 140,028 18,480
= 158,508
403 MR SHHS K20l 158,508 140,028 18,480
= 158,508
01 XA 22 X 168,508 140,028 18,480
O=JtXE 23 =Jt01 Il 158,508
= 158,508
2ot MHHEXAE 2= 579,250 199,250 380,000
Il 473,500
= 105,750
403 TUXISHHSA=01H 579,250 199,250 380,000
Jl 473,500
= 105,750
01 HXSHHGE=ExE 579,250 199,250 380,000
O=tX& 23N MLl &X 579,250
J| 473,500
< 105,750
=IXNE 2 YMHAIE SX2el XH 183,600 182,750 850
Il 151,200
= 32,400
308 XXM SO0I& 183,600 182,750 850
Il 151,200
= 32,400
01 HXHHBEEES 183,600 182,750 850
O=INNE2M AL g2 N2 183,600
Jl 151,200
S 32,400
S3 M AHNZHIE X R E2 269,767 214,799 54,968




AR 2HHSDEYR SN RSsAYD
Hu: 2R HSRE
Sl 2ERMO BED X FEB CERED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
Jl 179,845
< 89,922
308 XX EHHSOIA 269,767 214,799 54,968
J| 179,845
< 89,922
01 HIXNHHBNEES 269,767 214,799 54,968
O23 M etdZHIA X ¥ &8 269,767
J| 179,845
< 89,922
HdSAE B Fl 1,605,000 1,530,000 75,000
= 1,070,000
< 535,000
403 XIS S X201 & 1,605,000 1,530,000 75,000
= 1,070,000
< 535,000
01 AXSHMA2E = 1,605,000 1,530,000 75,000
O&ESAHE E=FH| 1,605,000
= 1,070,000
< 535,000
HSAE ETHAAE 25 593,250 1,110,000 A 516,750
= 395,500
< 197,750
403 Mt SHHSA=0l& 593,250 1,110,000 A 516,750
= 395,500
< 197,750
01 XM A=E X 593,250 1,110,000 A 516,750
ONSAE STWAIAE 25 593,250
= 395,500
< 197,750
HSAE ETHALAE SXES 228,627 194,975 33,652
= 152,418
< 76,209
403 X SHHE =0l & 228,627 194,975 33,652
= 152,418
< 76,209
01 HIXSHHMA=2EE 228,627 194,975 33,652
ONdSAE YMAIAH X2+ 228,627
= 152,418
< 76,209
STHEX I8 B3l 4,200,000 3,678,000 522,000
403 Ut ES X201 & 4,200,000 3,678,000 522,000
01 XXM 22 = 4,200,000 3,678,000 522,000
OEXE 23t E==ZH| 4,200,000
SXE SX=2M ¢4 -4 72,000 72,000 0




AR BoHsHE=2 2N 230= 40
Y 2R HSEE
Sl 2ERMO BED X FEB CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
403 XX SHHS K20 & 72,000 72,000 0
01 AIXISHHMA=Z2E X 72,000 72,000 0
OEXAE SIS U= - HHEANY 72,000
TS XA 25 22244 250,000 250,000 0
403 XX SHHS K20 & 250,000 250,000 0]
01 XIS A=Z2E X 250,000 250,000 0
OEXAE2M 2128 4H| 250,000
S ANEE23M =0101H D] 122,760 122,760 0
403 XX SRS R 20| & 122,760 122,760 0
01 AXESHHIE2E X 122,760 122,760 0]
OEXNA 23 =J101¥ D] 122,760
SXNE2SM ST AL 167,405 249,035 A 81,630
308 XX SHHSOIH 91,405 94,535 AN 3,130
01 AIXSHMEMNEXZ 91,405 94,535 AN 3,130
OEXA 23 2SMHEH SA2el 91,405
403 XX SHHS K20 & 76,000 154,500 A 78,500
01 XIS A=Z2E X 76,000 154,500 A 78,500
OEXAE23HM S ALS 76,000
sk |22 124,500 124,500 0
403 XX SRS K 20| & 124,500 124,500 0
01 XHHE2E =X 124,500 124,500 0
Ogn KX 22t] 124,500
KA DIESAL X & 7,900 6,500 1,400
J| 7,900
308 XX SHHSOIH 7,900 6,500 1,400
J| 7,900
01 AIXSHMENEXZ 7,900 6,500 1,400
OXAHSF A OlE=38H AL 7,900
J| 7,900
N2 2435 XS 67,732 36,250 31,482
= 46,712
& 21,020
308 XX G SO0l A 67,732 36,250 31,482
= 46,712
= 21,020
01 AIXSHMEMNEX= 67,732 36,250 31,482
ORE 23 =2 4835 AIY 67,732
= 46,712
o=} 21,020
LHE2SMH ZHH ALK& 49,800 50,800 A 1,000




M ox
40 5 4

fo fo oo
30 40 =
>z
19 1y

M0 MO MO

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 49,800 50,800 A 1,000
01 HIXNHHBHNEELES 49,800 50,800 1,000
OSRE=E3a M SHEA X& 34,800
OHM73 E=SE 23 &0ty SHE A 15,000
FEE3M dsAE 213,300 223,500 A 10,200
308 MtXIEHSOIH 213,300 223,500 A 10,200
01 X HHILEXS 213,300 223,500 A 10,200
ORE=2stM &K 213,300
EXNE 2 ZIIXZA 70,000 80,000 A 10,000
307 g2+l & 70,000 80,000 A 10,000
02 It M AHE L 70,000 80,000 A 10,000
OZXZE 23 HIIEA 70,000
EMSS ALY 1,254,264 1,050,700 203,564
J| 627,132
=) 627,132
307 glz2tol & 1,254,264 1,050,700 203,564
J| 627,132
=) 627,132
02 QI2ZtE M AMHEE 1,254,264 1,050,700 203,564
O=sM =AY 1,254,264
J| 627,132
< 627,132
MM ALY 271,250 260,750 10,500
= 155,000
< 116,250
308 MtXIEHSOIH 271,250 260,750 10,500
= 155,000
= 116,250
01 X HHILEES 271,250 260,750 10,500
OMM23IH At 271,250
= 155,000
=) 116,250
SWANE 23 22 A 258,000 267,000 A 9,000
= 172,000
< 86,000
308 A EHHSOIA 258,000 267,000 A9,000
= 172,000
< 86,000
01 HIXNHHBNEES 258,000 267,000 A 9,000
OZNMNH 23 2SAY 258,000
= 172,000
= 86,000
=M OrH=Z=2 08 At 420,000 300,000 120,000
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A= 2o Ms2E= PN 230l A
Hu: 2R HSRE
& 2R BEEY JIX F= (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 280,000
< 140,000
308 XX EHHSOIA 420,000 300,000 120,000
= 280,000
< 140,000
01 HIXNHHBNEES 420,000 300,000 120,000
O=stM otdZ=z08 ALY 420,000
= 280,000
< 140,000
HELAIZ23 T EEAY 139,500 150,000 A 10,500
= 93,000
< 46,500
308 XtXIEHH SOl A 139,500 150,000 210,500
= 93,000
< 46,500
01 X HHILEES 139,500 150,000 A 10,500
ONSLAZS N s 139,500
= 93,000
< 46,500
NHEZ2stRE DAY 138,000 124,500 13,500
J| 82,000
< 56,000
307 gl2tol & 60,000 60,000 0
J| 30,000
< 30,000
02 IZtF M AHE L 60,000 60,000 0
OXNYGZstRL NEAY 60,000
J| 30,000
< 30,000
308 XXM SOIA 78,000 64,500 13,500
J| 52,000
= 26,000
01 AXHHILEES 78,000 64,500 13,500
OXNYZstR4 WA 78,000
J| 52,000
< 26,000
FaRL BEAY 173,000 173,000 0
307 21201 A 108,000 108,000 0
02 QB AAHEX 108,000 108,000 0
OHM3sl == 2N JIse HZH 28,000
OFHE=EE 2oL A 224A 30,000
O=3R4 22 AY 2LHE £ ZEEE 50,000
308 XX EHSOIA 65,000 65,000 0
01 HIXNHHNBMNEES 65,000 65,000 0




A= 2o Ms2E= PN 230l A
M Fore BSEBE
& 2R BEEY JIX F= (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O2at7L 23 AY 65,000
SSSEESHT L St=H3I A 10,000 6,750 3,250
308 XXM SOl A 10,000 6,750 3,250
01 IXNHHBNEES 10,000 6,750 3,250
OS=sE2sd7 s=tial Nzl 10,000
XS OrSA o232 16,000 16,000 0
308 XtXIEHH SOl A 16,000 16,000 0
01 X HHBLEES 16,000 16,000 0
OX 0SS A 23 16,000
3 s=d 7 XA 300,000 270,000 30,000
307 2201 A 300,000 270,000 30,000
02 It M AHE L 300,000 270,000 30,000
O&= 23R4 O3t01E 2= 150,000
OXY 2L EE2H= WY 150,000
S BRFI AR/ 13,000 0 13,000
201 Let24E] 13,000 0 13,000
01 At 2teltl 13,000 0 13,000
Ot &= ZHl 13,000
HIXIE2 M 2+&Hl 20,000 30,000 A 10,000
403 HXSHHSA=0l& 20,000 30,000 A 10,000
01 X SHHMA=ZLE X 20,000 30,000 A 10,000
OHIXIZ 23t 2=+3Hl 20,000
23 JhetAl S=22sHEa =4 180,000 0 180,000
s 180,000
403 MtXISHH S0l & 180,000 0 180,000
s 180,000
01 XM A2E X 180,000 0 180,000
O=2d JHA SIAS2SHE 2 =4 180,000
s 180,000
NAHRA SE22] AHY 101,100 0 101,100
= 72,200
< 28,900
308 XtXIEHHSOIA 101,100 0 101,100
= 72,200
< 28,900
01 AXHHBILEES 101,100 0 101,100
OMA =& S8 et e M= 30,600
= 25,200
= 5,400
02019 ol 2E= e 57,750

- 22 -




AR BoHsHE=2 2A 23t = At Dt
Hu: 2R HSRE
Sl 2ERMO BED X FEB CERED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
= 38,500
= 19,250
02019 HNIHSA S8 22 M 12,750
= 8,500
=} 4,250
B2 HIAI 2822 AHY 500,000 0 500,000
403 XX SHHS K20 & 500,000 0 500,000
01 XIS A=2E X 500,000 0 500,000
OE2 HFA 8832 HY 500,000
S3HM oL EN HUYIAIS 159, 160 0 159, 160
= 118,320
o 40,840
403 XX SHHMS K201 A 159, 160 0 159, 160
= 118,320
= 40,840
01 XS RS2 X 159, 160 0 159, 160
O23tM ot &t MHIALY 159, 160
= 118,320
& 40,840
HMSHAY (230 = A D) 91,848 91,471 377
JlE&dl 91,848 91,471 377
Jl2 &l 91,848 91,471 377
201 et d| 21,288 20,401 887
01 AP 2t 2| H| 21,288 20,401 887
OJlgfx=Zl| 8,688
[OPIE==2=1l 12,600
202 044l 45,360 43,470 1,890
01 ZU0d b 45,360 43,470 1,890
o220l 45,360
203 QR =T Y| 25,200 25,800 A 600
01 JI22HEYRFAH| 6,600 6,600 0
OSgsH2=2E 6,600
04 EANSIELRF=XH| 18,600 19,200 A 600
OS50l atd 4,200
OM=sdE1 3,600
OMetiisdFTA 3,000
o2&zt 4,200
OHA=Z23 3,600
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AR 2SR SAHsHES
Hu: Asmol HIHE
el MEAE SER-ED
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
ANz 2s3I18 XE 500,000 500,000 0
308 AHAIEHHSOIA 500,000 500,000 0
01 HXNHHBHELS 500,000 500,000 0
OAZ 2838012 XA 500,000
=M AZ= WRF 121,000 46,000 75,000
201 Zet24l 75,000 0 75,000
03 A2 Z Hl 75,000 0 75,000
O3 AZ=x MAG 222 29 75,000
202 oddl 6,000 6,000 0
03 22 FR0HI 6,000 6,000 0
O=2g20l 6,000
307 gl2tol & 40,000 0 40,000
02 IZtA M AHE X 40,000 0 40,000
O=3MNAEZ=WFAA 40,000
T M=s X 9,096,464 9,220,913 A 124,449
307 g1zl & 9,096,464 9,220,913 A 124,449
02 LIt MAHEE 7,193,140 7,317,710 A 124,570
OHZHEISAMY 7,128,140
ON=sII=E2H 65,000
03 BIAHNHE2IHIEL 1,903,324 1,903,203 121
OESMs3 MRH2Y 1,903,324
AESHM HEXA 302,400 302,400 0
307 glz2+ol & 302,400 302,400 0
02 HAFHAANEEE 302,400 302,400 0
O=d&s=HH ¢3XNA 302,400
SOXMA Iz XA 250,000 250,000 0
308 XXIEHHSOIA 250,000 250,000 0
01 HXNHHBHELS 250,000 250,000 0
OEgNad 2gdl XA 250,000
d2M=0a K& 423,000 135,000 288,000
307 gl2tol & 80,000 10,000 70,000
04 DIZHHALALSE E X 80,000 10,000 70,000
OHM303 DlAHSES=SE dZUs 10,000
OHM30& Al=CHES & 0tctEU 2 35,000
OHM3Bsl SH=2Z AZUHESH0IetEUS 35,000
308 XXM SO A 343,000 125,000 218,000
01 IXNHHBHNEES 343,000 125,000 218,000
OF3J d=REUs 120,000
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AR 2SR SAHsHES
Hu: Asmol HIHE
ool MSRE CER-ED
R.RA-ZE-G(HH) - HRAY - BES Ol &k 2 il H D = 2t
O 2 NEZZFUSE 90,000
OHM2al TXIAHH Et235 &= ZEQI3E 3l 25,000
OSEESZ XA &=22=5403 8,000
O=4lisy &I 828X Ual 100,000
MAAT X S5 XA 50,000 0 50,000
307 Qi2tol & 50,000 0 50,000
02 QIZHE A A E X 50,000 0 50,000
Ot AT = 2435 X 50,000
MEHSSE 4,373,902 4,337,389 36,513
| 2,732,952
< 1,640,950
deEns K 2,000 2,000 0
202 4 HI 2,000 2,000 0
01 = LHA YI 2,000 2,000 0
OMEN=s =20l 2,000
MEHE KN X BHXI(A2) 1,050,300 895, 152 155,148
| 1,023,300
< 27,000
308 XXIEHH S0 A 1,050,300 895, 152 155,148
| 1,023,300
< 27,000
01 AXNSHHBLEES 1,050,300 895, 152 155,148
OLtMEYSX X IR (Al - 2) 1,050,300
| 1,023,300
= 27,000
Hed dMsas N 45,000 45,000 0
| 22,500
= 22,500
307 giz2+ol & 45,000 45,000 0
| 22,500
= 22,500
04 DI2FSHALAIE 2 = 45,000 45,000 0
Os=Ed2ddexdsUal 45,000
| 22,500
< 22,500
oz dMsgs XNE(AZ) 952,272 789,840 162,432
J| 927,792
== 24,480
308 XXM S0l A 952,272 789,840 162,432
J| 927,792
< 24,480
01 AXSGHBLEES 952,272 789,840 162,432
ONZ4a MEMSKEX BRI (AIZ) 952,272
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S Hs22= M4 HEIEDL
SEXol HRAE
MEHSHE (sl &2)
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
307 glz2tol & 100,000 108,000 A 8,000
04 DI2HHALALSE E X 100,000 108,000 A 8,000
O2Z M=& ALK& (POOL) 100,000
A= M4AXEH U3 75,000 88,000 A 13,000
308 XXM SO0l A 75,000 88,000 A 13,000
01 IXNHHBNEES 75,000 88,000 A 13,000
OZESS XA &t MIAAAEIANUSE 48,000
OZHANMIZLARE HHa 27,000
BAME XA 36,000 60,000 A24,000
308 A EHHSOIA 36,000 60,000 A24,000
01 HIXNHHNBMNELS 36,000 60,000 A24,000
OMHHA S 36,000
MEHSSEE TVEA 12,000 12,000 0
307 glz2+ol & 12,000 12,000 0
02 It HAHEE 12,000 0 12,000
OQUEM=sd TVEAH 12,000
== TUSHtwa 18,000 20,000 A 2,000
307 21201 A 18,000 20,000 A 2,000
04 QIZFHALAIH B = 18,000 20,000 A 2,000
Os=2zsdnsy 18,000
70U sx ¥ X& 46,000 46,000 0
308 XX EHHSOIA 46,000 46,000 0
01 HXNHHNBHELS 46,000 46,000 0
OWK(GiX==2)eld !X 46,000
A= ROUHAMAE K& 70,000 70,000 0
308 XX EHHSOIA 70,000 70,000 0
01 HIXNHHNBNEES 70,000 70,000 0
OX=RUUME 70,000
QIEFIIME K& 4,050 4,500 A 450
307 glz2tol & 4,050 4,500 A 450
04 QIZFHALAIH B = 4,050 4,500 A 450
OZE =SS XIAEH @I=5F I3l 4,050
FadE =23 WFUE 15,000 20,000 A5,000
308 MHXIEHMSOIH 15,000 20,000 A5,000
01 X HHILEES 15,000 20,000 A5,000
O=2AH 8 -5 E4Y 2P=23 WFUHS 15,000
sE=23C HEH 150,000 150,000 0
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AR 2SR SAHsHES
HH: =m0l HIAE
Sl MEHSHE CERED
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
307 glz2tol & 100,000 100,000 0
04 2I2tHAAIR 2 & 100,000 100,000 0
OE=3H UWEE 100,000
308 XXM SOIA 50,000 50,000 0
01 AXHHBILEES 50,000 50,000 0
E=E3H HEE 50,000
H=oHal XI& 24,000 24,000 0
307 21201 A 24,000 24,000 0
04 QIZFHALAIH B & 24,000 24,000 0
OSXIALHH HI=CHE 9,000
OuMdEg ttsela &It 15,000
FHAMEEE 5,544,950 4,808,282 736,668
J| 505,330
< 5,039,620
NS AEAY 4,635,086 4,158,717 476,369
307 glz2tol & 4,635,086 4,158,717 476,369
02 QIZtE M AHEE 3,702,478 3,279,803 422,675
OHMANM=EEAS 2,211,388
O AZ=AMAE RS 1,312,090
Of+ds SHX 179,000
03 QIZtHNHE2HHEX 862,608 790,914 71,694
OZMAMSEAIMPHSEHI 862,608
04 QIZFHALAIH E = 70,000 88,000 A 18,000
OZXAHHE =Z 04l M =0 2 70,000
ZOHAUERIXM=HS XA 100,000 100,000 0
J| 19,000
< 81,000
307 21201 A 100,000 100,000 0
J| 19,000
= 81,000
04 QIZFHALAIH B = 100,000 100,000 0
OZMAELX =S 100,000
J| 19,000
< 81,000
O ME S X S AU X (M= 3) 109, 152 549,565 AN440,413
J| 54,576
< 54,576
307 gl2tol & 109,152 80,424 28,728
J| 54,576
< 54,576
02 IZtE M AHE L 109, 152 80,424 28,728
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S22 2M @ AsdEY
sl HSHE
eI sdE CEE-ED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ol At o %Eﬁ HR=2
OXOMe MEHNSANEX X (HS3) 109, 152
J| 54,576
= 54,576
ZOHCIME X S K S AHHH X (Al ) 576,232 0 576,232
J| 411,594
= 164,638
308 XHXIGHH SO0l & 576,232 0 576,232
J| 411,594
& 164,638
01 HXHHIMNEXZ 576,232 0 576,232
OQZofel MEtHESXI S X BEXI (Al Z) 576,232
J| 411,594
& 164,638
ZOoHe 2 HUE XA 100,000 0 100,000
308 XX SHHSOIA 100,000 0 100,000
01 AIXSHMENEXZ 100,000 0 100,000
OFF HAHAEMHEAMSRA 3 100,000
SO AZX2E ol2d & 24,480 0 24,480
J| 20,160
& 4,320
307 2iz2to| & 24,480 0 24,480
J| 20,160
== 4,320
02 QIZ2IA AAIE E X 24,480 0 24,480
OHOMR AZT2AZ 0/2H XS 24,480
J| 20,160
o= 4,320
HEAE &= 47,221,130 23,626, 168 23,594,962
Fag 14,110,000
J| 4,200,000
& 28,911,130
SEATXAMEH 22 189, 130 205, 168 A 16,038
307 giztol A 189,130 205, 168 A 16,038
02 AI2tAAMAIE E =X 189, 130 205, 168 N 16,038
OESAZXHME 22| 189, 130
COIMHAE A XAE 2,750,000 1,200,000 1,550,000
403 XX SRS K 20| & 2,750,000 1,200,000 1,550,000
01 AXESH2E X 2,750,000 1,200,000 1,550,000
02020 =0IHMAE A X3 2,750,000
HESAE 222E A 100,000 30,000 70,000
403 XX SHHS K201 & 100,000 30,000 70,000
01 XIS AS2E X 100,000 30,000 70,000
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D 2 s2E= FM o HEH

A=
HH: =m0l HIAE
S MSAE =25 (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OMSAE &x & 222d 100,000
SEHSAEMNE S 10,000 0 10,000
201 Lt 10,000 0 10,000
02 =224l 10,000 0 10,000
Os=Hd=s3a 838 d 10,000
SUMSAHAE XA 8,400,000 0 8,400,000
J| 1,200,000
< 7,200,000
403 Mt S E X201 & 8,400,000 0 8,400,000
J| 1,200,000
< 7,200,000
01 X SHHX2E= 8,400,000 0 8,400,000
O=2xNsdH A 8,400,000
J| 1,200,000
< 7,200,000
HESEESAE X2 (HE) 30,572,000 20,691,000 9,881,000
s 14,110,000
=) 16,462,000
403 UHXSHHSA=0l& 30,572,000 20,691,000 9,881,000
s 14,110,000
< 16,462,000
01 X SHMA2E X 30,572,000 20,691,000 9,881,000
OMSTEAL X (ME) 30,572,000
s 14,110,000
< 16,462,000
AgHs BINE == 200,000 1,500,000 A 1,300,000
207 A O] 200,000 0 200,000
01 289 200,000 0 200,000
OOFRE A JI274 L BEH ZA 89 0
OM=s Zet 25 BEH =AY 200,000
AASI W OHESEHSs2 AE 4,000,000 0 4,000,000
J| 2,000,000
= 2,000,000
403 XM S =0l & 4,000,000 0 4,000,000
J| 2,000,000
< 2,000,000
01 XM A=2E X 4,000,000 0 4,000,000
OLFHI W LSS AE 4,000,000
J| 2,000,000
< 2,000,000
EFAN FAEETE =4 1,000,000 0 1,000,000
J| 1,000,000
403 MtXISHHE X201 E 1,000,000 0 1,000,000




AR 2SR SAHsHES
HH: =m0l HIAE
S MSAE =25 (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 1,000,000
01 XM A2E X 1,000,000 0 1,000,000
SN RAaEEIE =4 1,000,000
J| 1,000,000
S MEAL X2 5,222,363 7,795,479 22,573,116
s 500,000
< 4,722,363
=HEAM Z FHIRFX 41,000 4,851,000 A 4,810,000
201 et 11,000 11,000 0
01 At 22l 11,000 11,000 0
O=HMAXE Lt &==ZH| 10,000
OZMEALX 2 =&l 1,000
202 044l 3,000 3,000 0
01 = LH o4 1 3,000 3,000 0
O=HMEAXE LAY 3,000
203 ¥R =&l 7,000 7,000 0
03 A=A H =AY 7,000 7,000 0
O=HMAXNE gR2=2 7,000
307 glz2tol & 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
OMAHS=HY HAY S5 20,000
NAHSHOLAEH A JHE 2,766,970 2,133,600 633,370
307 glz2tol & 2,766,970 2,133,600 633,370
04 QIZFHALAIH E = 2,766,970 2,133,600 633,370
O 2019 SFAMA LU OLAEY JH Al 2,766,970
NAHASUHOIAHM RS XA 762,893 459,379 303,514
307 21201 A 762,893 459,379 303,514
02 IAFAAFEX 762,893 459,379 303,514
OMMASROOtAH &2 3] (WMC) X 762,893
=SHRudE 2 XA 651,500 351,500 300,000
307 21201 A 651,500 351,500 300,000
02 It S AHE L 400,000 120,000 280,000
OZHMBOUHME(ICMAIE X2 (UHS) 400,000
03 QIAHMNHE2IHIEE 251,500 231,500 20,000
OZM=RuHME(ICM2E X (UHS) 251,500
= M0 S sHH 1,000,000 0 1,000,000
s 500,000
< 500,000
307 21201 A 1,000,000 0 1,000,000
s 500,000
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A= 2o Ms2E= 2M  AEZ3Y
Hu: FH25 I4
& F=HES MM CEE-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
03 A2 Z Hl 7,400 7,400 0
O3S IFNUHEZL ng =8 7,400
301 et a =z 600 600 0
09 &AL HI B &S 600 600 0
OZ2==8 L=NUEZQ sy FXH 600
FHRe xS 873,000 4,287,000 A 3,414,000
s 873,000
403 A X EHHS 20l A 873,000 4,287,000 A 3,414,000
s 873,000
01 X HHMA=LE L 873,000 4,287,000 A 3,414,000
Od= 22 ALHDHel LAY 873,000
ras 873,000
fclsdl el 4,783,000 0 4,783,000
s 4,100,000
< 683,000
403 XM S =0l & 4,783,000 0 4,783,000
s 4,100,000
< 683,000
01 X SHMA2E X 4,783,000 0 4,783,000
OZAMM sA (Relsulaeldl) 4,783,000
s 4,100,000
< 683,000
S AITH AL 23,763,000 5,733,000 18,030,000
s 20,715,000
< 3,048,000
307 21201 A 250,000 0 250,000
05 RIZt2IE = 250,000 0 250,000
OSE=EE SAMEXNILH £ - 22 250,000
308 A EHHSOIA 50,000 40,000 10,000
01 HXNHHNBHELS 50,000 40,000 10,000
OEAMMHY =€ NI et 50,000
403 MtXISHHE =0l & 23,463,000 5,693,000 17,770,000
s 20,715,000
< 2,748,000
01 XM A2EE 23,463,000 5,693,000 17,770,000
OZAMHY =EAY 19,347,000
s 16,599,000
< 2,748,000
OZAHY (22 MEE )AL 4,116,000
-&5F ALY S2SEH THd2Z TAMY 1,950,000
s 1,950,000
—H&E AEY TAITHY SASHALS 2,166,000
as 2,166,000
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AZ: 2SR SN AE2EHD
M =R8 =4
& F=HES MM (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
FH=0 A& 48,291,006 32,813,428 15,477,578
= 43,738,330
< 4,552,676
308 AHAIEHHSOIA 48,291,006 32,813,428 15,477,578
= 43,738,330
< 4,552,676
01 HIXNHHNBHELS 48,291,006 32,813,428 15,477,578
FH20 NA 48,291,006
= 43,738,330
< 4,552,676
SHE Z0HQ FEOHEZALY 300,390 335,920 A 35,530
= 176,700
< 123,690
308 XXM SO A 300,390 335,920 A 35,530
= 176,700
< 123,690
01 AXHHILEES 300,390 335,920 A 35,530
Os0HE Z0He F=EIHXZAL 300,390
= 176,700
< 123,690
HEFEAY NS 1,227,562 5,948,061 A 4,720,499
J| 1,227,562
403 XIS E X201 & 1,227,562 5,948,061 A 4,720,499
J| 1,227,562
01 X EHHMA=LE XL 1,227,562 5,948,061 A4,720,499
Od==& X3 AY 1,227,562
J| 1,227,562
HH2LAZH(AS25 ) 49,986 55,009 25,023
Jl=&l 49,986 55,009 25,023
Jl2234 49,986 55,009 25,023
201 Let24d] 15,966 15,079 887
01 At 22/l 15,966 15,079 887
OJle=+=&Hl 6,516
OJl2= &l 9,450
202 44l 34,020 32,130 1,890
01 SLHOIYI 34,020 32,130 1,890
O=Waotl 34,020
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